EARAROBREBRT —5 XN—ZXBISH—F 2021598178 (&) 130REE4H

VIR EETEEMSR C1 HSH—g [ w | mEEE - |9 @ o wE
[xE&] 15 :450,000H  23%&:144,000W  3#&:81,000H  43%&:54,000H  53&:36,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- [EI BB : -7-6- - BErlE—A (BEE)
115|5| X330/ ULXK R 5 e e 87 ’ ?_912) PEeE
RZANOVIUI—Y B:RIAYPILTY FREUS
»—p ~ 4 | REESE 1:31.8 4-3-2-2 [39.2| - 4 485 | B (REE)
21810l EXTUUTZ VK E 54.0 \F) 1) | Pt
RiFVyvB/FE+ B:LyRLA—-T Gl e
o s = BRERE— : -1-1- - FEBC (RaE
317 7 | RAVYIRF A 5 | BE 1(731:? 1-1-1-1 | 39.5 8 (4353) el ( )
R:NA40 B:IRFAA—Y3Y ZRBT77—L
X X =@ 3. 5-3- 5| - EEOE (BER)
417l 8| TIWHTL—D "4 S R IR R " e BT
RUFIWAVINT N B kALY BiENS
. [Er e 32, ~10-10~ . - EHSH (BER)
5 3| /vy hy—Fa1—Fh i 5 i 1(312)3 10-10-10-9 | 38.4 5 (4_53) caichd
R:7HIYFUIR #F:7OVIHY— #HE77—LA
Ny — e : -2-5- - EHSHN (ER)
6l8|o | LARFZSA K 4| 8% e S e
RiFALNSRYIR B:FUTT AR Eig
< KIBHE : -8-9- - RESEX (BaE
J9hOF Yk #o4 | G | TP P ey U
RAR—KT7IVAY BFv—FIDA7 /=Y IT7—L
= 5 | #lIEE 1:32.7 9-9-8-8 |39.2| -— 3 443 | tERAIE (BEE)
oo e * £34.0 @) (+1) W) Jr—2 sy
RiIW—ZAUYR B:HYF—XEU— MIERIS
~ BAMES : -4-4- - MTEA (BEHE)
<TUTY it 4 BT (12313/22) 2-4-4-4 | 40.6 2 (4_53) k%;_
R:bh—trya—9y BF:I=FIvIa—L HHE EE
<, L s 5 | EHEA 1:33.7 6-6-7-10 | 40.6 | — 10 | 440 |FEEE (BEE)
T A * 56.0 2172 @ | @ Ir—xtevay
RIVIRI—ZZRI— BIDOVEFIU—K 75 Ris
@ 11— —BERIEI
13—7F— 7,1,9,10,8,4,5,6,2,3
20—F— 7,9,10,1,8,4,5,6,2,3
30—7F— 7,10,8,1,9,5,4,2,6,3
4A0—F— 7,10,8,1,5,9,6,2,3,4
0 ILRE
BB 5 1,200 JA R 5-10 2,070 & 5-8 2,050H 3ER 5-7-10
B B 5 400 5-7 3,200 o 18 5-10 6,620M 3Es 5-10-7 199,700H
10 460 7-10 3,940M oS- 1 5-10 16,0904
7 480M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




